
Factors, Multiples and Primes4 Module 2

Fa
ct

or
s,

 M
u

lt
ip

le
s 

an
d

 P
ri

m
es

M
o

d
u

le
 2

Sub Header
Main Copy

Main Copy

 Main Copy No Space

   Main Copy No Space

   Main Copy No Space

   Main Copy No Space

  Main Copy 

Maths symbols: 

  

4 Place Value and Ordering Module 1

 An integer is a whole number; it can be positive, negative or zero.

Positive   A number above zero.

Negative   A number below zero.K
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This table summarises the rules:

+ × or ÷ + = +

+ × or ÷ – = –

– × or ÷ + = –

– × or ÷ – = +

A positive number multiplied by a negative number gives a negative answer.

A negative number multiplied by a negative number gives a positive answer.

Multiplying and dividing integers  
Look at these examples.

Multiplying a negative number by a positive number 

always gives a negative answer.

–5 × +3 = –15
+5 × –3 = –15

The same rules work for division.

+10 ÷ –5 = –2
–10 ÷ –5 = +2

Multiplying two positive numbers or multiplying two 

negative numbers always gives a positive answer.

+4 × +3 = +12
–4 × –3 = +12

Adding and subtracting integers  
Adding a negative number or subtracting a 

positive number will have the same result.

3 + –5 = –2
3 – +5 = –2

+ + means +

+ – means –

– + means –

– – means +

Adding a positive number or subtracting a 

negative number will have the same result.

–1 + +4 = +3
–1 – –4 = +3

3
2
1
0
–1
–2

3
2
1
0

–1
–2

Go down 

by 5.

Go up 

by 4.

Adding a negative number means subtract.

Subtracting a negative number means add.

Use a number line to visualise the answer.
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Factors, Multiples and Primes 5Module 2Place Value and Ordering 5Module 1

1.   Calculate the following:

 (a) –5 – –8 

 (b) –2 + –6 

 (c) –7 + –3 – –5  

2.    Calculate the following:

 (a) –12 × –4 

 (b) 24 ÷ –3 

 (c) –3 × –4 × –5  

3.    State whether these statements are true or false.

 (a) 6 < 3 

 (b) –4 > –5 

 (c) 2 + –3 = 2 – +3

4.    Given that 43 × 57 = 2451, calculate the following:

 (a) 4.3 × 0.57 

 (b) 430 × 570 

 (c)  2451 ÷ 5.7 

Use of symbols  
Look at the following symbols and their meanings.

Symbol Meaning Examples

> Greater than 5 > 3 (5 is greater than 3)

< Less than –4 < –1 (–4 is less than –1)

> Greater than or equal to x > 2 (x can be 2 or higher)

< Less than or equal to x < –3 (x can be –3 or lower)

= Equal to 2 + +3 = 2 – –3

≠ Not equal to 42 ≠ 4 × 2  (16 is not equal to 8)

Place value   
Look at this example.

Given that 23 × 47 = 1081, work out 2.3 × 4.7

The answer to 2.3 × 4.7 must have the digits 1 0 8 1 

2.3 is about 2 and 4.7 is about 5. Since 2 × 5 = 10, the answer must be about 10.

Therefore 2.3 × 4.7 = 10.81

Write the following symbols and numbers 

on separate pieces of paper.

+ – × ÷ = 0

+2 –2 +4 –4 +8 –8

Arrange them to form a correct calculation.

How many different calculations can you 

make? For example:  

+2 – –2 = +4

Do a quick estimate to find where the decimal point goes.

)

8)
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76 Geometry and Measures Mind Map
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77Geometry and MeasuresExam Practice Questions

1.  If the interior angle of a regular polygon is 156°, how many sides does it have? [2]

2. Find the angle HGD giving all your reasons.   [3]

 

3.  In triangle ABC the length AB = 10cm, angle BAC = 92° and angle ABC = 20°.

  In triangle RST the length SR = 10cm, angle RST = 20° and angle STR = 68°.

 Draw triangles ABC and RST and show that they are congruent, giving your reasons.    [3]

4.  (a)  Rotate shape A 90° clockwise about the 

point (0, 0) and label the image B.  [2] 

 (b)  Reflect B in the line x = 0 and label 

the image C.     [1]

 

5. OABC is a parallelogram with X the midpoint of AB and Y the midpoint of BC.

 

A a

Y

X b

O

B C

 Use the vectors a and b to write:

 (a) OA [1] (b) OB [1] (c) OY [2]

6.  N

Q PM

6cm7cm

4cm

 (a) Find the length NQ. Give your answer to 2 decimal places. [3]

 (b) Find the angle NMQ. Give your answer correct to 3 significant figures.  [3]

7. Find the volume of this cylinder. Give your answer in terms of π.   [3]

 8cm

10cm

92º

46º

D

B

F

H

G

E

C

A

    0

 

–4    –3   –2    –1     1    2    3    4

4

3

2

1

–1

–2

–3

–4

y

x

5

6

5 6

–5

–5–6

–6
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For more help on this topic, see Letts GCSE Maths Foundation Revision Guide pages 46–47.

Comparing Quantities26 Module 20
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1  Circle the numbers which are not equivalent to 3.75  [2 marks]

 
30
8

     37.5%     375%     
14
5

     3 5
8

     
750
200

2  Write the following numbers in ascending order.  [2 marks]

 0.21      20%      
3
10

      0.211      
2
9

3  Is 2.125 or 2
4
5
 closer to 2

1
2
? Explain your reasoning.  [2 marks]

 

4   On a new estate of 32 houses, 3
8

 have two bedrooms. 5
6

 of the two-bedroom 

houses have a garage.

  What percentage of the whole estate is represented by two-bedroom houses 

with a garage? [2 marks]

   

5  Claire makes soft toys to sell at a Christmas market.

(a) Each dog toy costs £3.45 to make and Claire sells them for £5.99.

 What is her percentage profi t? [2 marks]

         

(b) A tiger toy costs 15% more to make than a dog toy and she makes 80 tiger toys. 

Claire sells 55 of them for £6.99 and the rest at the reduced price of £4.

 What percentage profi t does she make on tiger toys? [4 marks]

   

6   At Mathstown School 55% of the students are girls. 40% of the girls and 

65% of the boys have school lunch. 

(a) What percentage of students at the school have school lunch? [3 marks]

   

(b) What fraction of the boys do not have school lunch? [2 marks]

   

Score      /19
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Ratio 27Module 21

For more help on this topic, see Letts GCSE Maths Foundation Revision Guide pages 48–49.
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1  Simplify these ratios and circle the odd one out. You must show all your working.  [2  marks]

 £4 : £6   10 : 15   20cm : 3m   750g : 1.125kg   40 seconds : 1 minute

2   Jane is making ‘mist blue’ paint for her room. She mixes navy blue, grey and 

white paint in the ratio 1 : 2 : 7

(a) How much of each colour does Jane need to make 2 litres of ‘mist blue’ paint? [3 marks]

 Navy blue:  ml  Grey:  ml  White:  ml

(b) Jane fi nds she has 
3
4

 litres of navy blue, 1200ml of grey and 6 litres of white paint.

 What is the maximum amount of ‘mist blue’ she can make? [2 marks]

    litres

3  The ratio of A : B is 5 : 8

 Complete this statement. A is  of B.  [1 mark]

4  This is a recipe for shortbread:

 

Makes 15 biscuits

110g butter    50g sugar    175g fl our    50g chocolate chips

(a) Amil has 70g of sugar. How many biscuits can he make? [2 marks]

   

(b) How much fl our is needed to make 12 biscuits? [2 marks]

    g

5  Lucy makes green paint by mixing yellow and blue paint in the ratio 5 : 2

Blue paint costs £30 for 5 litres and yellow paint costs £28 for 7 litres.

  Lucy sells her green paint for £4.50 per litre. Will she make a profi t? Show your 

working to justify your decision.  [3 marks]

Score      /15
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58 Practice Exam

20. Simplify x y( )3 2 5 2
  [2]

    

21. The total TV sales over a fi ve-year period for a national electrical store were 120 000 units.

 Find the sales fi gures for computers and TVs in year 4.  [3]

Year
Computer sales 

(thousands)
TV sales 

(thousands)
1 12

2 14

3 13

4 a 2a � 5

5 16

   TV sales: 

   Computer sales: 

22. Find the equation of the line that is parallel to = +y x2 7 and passes through the point (0, –3). [2]

    

S
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Year

1 2 3 4 5
0

5

10

15

20

25

30

Computer sales

TV sales
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59Practice Exam

23. Here is a square and an isosceles triangle. 

x

x

The length of each of the equal sides of the triangle is 3cm greater than the side of the square.

(a) If the perimeters of the two shapes are equal, fi nd the value of x.  [3]

   

(b) Show that the height of the triangle is equal to the diagonal of the square.  [3]

 

 

 

 

24. Calculate the circumference of this circle. 

3cm

Leave your answer in terms of π.  [2]

    cm

98078_P050–085.indd   59 4/23/15   5:34 PM



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 10%)
  /CalRGBProfile (HCP eciRGB v2)
  /CalCMYKProfile (HCP ISO Coated v2 300% ECI)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.3
  /CompressObjects /Off
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Perceptual
  /DetectBlends false
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 524288
  /LockDistillerParams true
  /MaxSubsetPct 100
  /Optimize false
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues false
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Remove
  /UsePrologue false
  /ColorSettingsFile (None)
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 150
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 350
  /ColorImageDepth 8
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.28286
  /EncodeColorImages true
  /ColorImageFilter /FlateEncode
  /AutoFilterColorImages false
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 150
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 350
  /GrayImageDepth 8
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.28286
  /EncodeGrayImages true
  /GrayImageFilter /FlateEncode
  /AutoFilterGrayImages false
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1270
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 2.51969
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /PDFX1a:2001
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError false
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox false
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (Coated FOGRA39 \050ISO 12647-2:2004\051)
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
>> setdistillerparams
<<
  /HWResolution [2540 2540]
  /PageSize [612.000 792.000]
>> setpagedevice




